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12,515 10 13 9 12,547
7,325 6 8 6 7,345
2,151 2 2 2 2,157
-1 23,631 20 25 19 23,695
-2 19,400 16 21 15 19,452
-3 10,958 9 12 8 10,987
-4 4,024 3 4 3 4,034
58,013 48 62 45 58,168
17,669 15 19 14 17,717
3,071 3 3 3 3,080
1) 18,686
2) 4,568
(3) 23,254 (1)+(2)
(1) 2,172
2) 258
(3NTT 2,430 (1)+(2)
(4) 314
(5) 2,744 (3)+(4)
(6) 3
) 2,747 (5)+(6)
1) 1,480,459
2) 252,546
(3) 234,676
(4) 1,967,681 (1)+(2)+(3)
0.54
(3)
3.02
(3)
0.79
(5)
21.18
@)
6.46
(5)
0.16
(4)
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2,467 (2)
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204 )
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1,667 )
404 )
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0.0033 ( )

&)

3,401,317 ( )

18,988 ( )

0.0056 ( )

(

)




€y

0.5

0.5

)

= 1.5 + 12 x 365 = 45.625
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14
1,205,008 (0.255) 1,205,008 (0.334)
3,401,317 > 3,401,317
600,629 (0.127)
h 565,616  (0.157)
1,087,411 (0.230)
A 1,122,424 B
) 18,988
1,837,289 (0.388) 206,595 11,207| 1,837,289  (0.509)
1,329,019
176,400
4,730,336 3,607,912 3,607,912

206,595-1,329,019=4 1,122,424

2
1,205,008 + 565,616 + 3,607,912 0.491 ]
®)
= 1,205,008 = 1,205,008+565,616 = 0.681
4
1-0068 9 0319 |
®)
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1.89
QD)
@
5
1.45%
10 11 12 13 14
1.50 1.69 1.64 1.29 1.13 1.45
) ( 10
A)
= 1.89%x 0.681+1.45%%x 0.319 = 1.75%
( X + X




12 13 14
0.0164 0.0129 0.0113 0.0135

10 11 12 13 14
0.0118 0.0090 0.0247 A 0.0041 0.0240 0.0131
0.0131
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= 69.87%

- 1 x0.101 - 1= 0.101 X = 0.0917
1+0.101
2
= X 0.3
=( -0.0917 ) x 0.3
= 0.2725
3
= x 0.05
=0.2725y x 0.05 = 0.0136
4
= x 0.123
=0.2725y x 0.123 = 0.0335

= 1+ 2+ 3+ 4
0.4113

= = _0.4113y = _0.4113y =0.6987
z (1-0.4113)y 0.5887y

0.4113

1-0.4113
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